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1./Which of the following are the exclusive
powers of the Lok Sabha ?
1. To introduce the Money Bill.
2. To ratify the declaration of emergency.
3. To pass a motion of no confidence

against the Council of Ministers.

4. To impeach against the President.
Choose the correct answer from the code

given below :
Code :
(a) 1 and 3 (b) 1 and 4

(c) 3and 4 (d) 2and 3
) \J

ich of the following sea is situated
between Philippines and Vietnam ?
(a) Philippines Sea (b) Celebes Sea
@South China Sea (d) East China Sea

ty\The provision for Anti Defection Act
is mentioned in which of the following
Schedules of the Constitution of India ?
(a) 9 (b) 12"
(c) 11™ (d) 10"

With reference to the Vikramshila University
which of the following statements is/are
correct ?

1. Vikramshila was one of the most
important centre of learning in India
during the Pala period.

2. Rakshit, Virochan, Ateesh, Deepankar
and Ratnakar Shanti were very important
Acharya of Vikramshila University.

Select the correct answer using the code

given below :

Code :

() Only

(c) Both 1 and 2

(b) Neither 1 nor 2
(d) Only 2

ﬂ What was the theme 40
q‘ntemational Trade F%
217

(a) Atmanirbhar Bharat

(b) Vocal for Local

(c) Is of Doing Business

(d) None of the above

D
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%ﬁ:ﬁmamammmm% E

|.'mﬁa&waﬁw

2. AMTAHA H FAEADT HFEAT |
3. ufAnfree % fasg sfavem wwam@ o s
4. trgafa & fasg weifirem @mrn |

fra fo w5z 1 @ vt 3 9 -
E T
@1:%3 (b) 134
(c) 3 3 4 (d) 233
2. feefidia i fagaam & o9 frafafea 4 3
HH-71 | fead 2 7
(a) frefrdfa drm (b) e "
;(ETW#HWR (d) 9@ =7 7w J

3. ¥ua % dfaur & fFrafafea 4 § e s @
E-aee faidt wifufaam w1 yEu= 2 7

(a) 0o (b) 12 &
(c) 11 @ 10 f

faspmfiren favafaeen & g d Fefafga 5 8
FA-91/8 FuF wd 2/E 7
1. 9 # et e § fammnfien w geeg

FEIA &g ol |
Y | 2. W, fatem, swdw, due aur e i,

fosafyren favafaaer & wfa me=gl
= @ |

i fd ™ e+ W = @l I oW 9

Hifi

% :

(a) ®a 1 b) A@M 13 Ad2

(c) 1 aur 2 gl (d) Had 2

Fav, 2021ﬁm@g§_@

R 0 6 oA o ¢
(a) Jreafait wra

(b) AYhe R AR

) §1 311 3§ faew
d) 3w d @ #§ Tl
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6. With referen@latinna]

2021, which
s ’ of the fi i
1s/are correct Ollowing &t

. It was celebrated 23~
2021. on

2. It’s theme was

Select the correct
below :

Code :
(a) 1 only
(c) Both 1 and 2

'veda Da;
atement

October,

‘Ayurveda for Poshan'
answer from the code gi\.ren

(b) Neither 1 nor 2
(d) 2 only

In which of the following Puranas, the five
characteristics of the Puranas are mentioned ?

(a) Vaman (b) Matsya
(c) Vayu (d) Vishnu

which Constitutional AmendmentPart [X B’

was added in Indian Constitution ?
da) 52™ Constitutional Amendment
(b) 97* Constitutional Amendment

6.

(c) 93™ Constitutional Amendment
(d) 73 Constitutional Amendment

/ Which one of the following States is a leading 9.
producer of diamonds in India ?
(a) Telangana (b) Karnataka
(® Madhya Pradesh (d) Odisha

M) India, the voting age was lowered from | 10.

21 to 18 years by which of the following
Constitutional Amendment ?
(a) 56" (b) 88™
(c) 72 ar(61)
Knock-Knee syndrome results due to 11.
pollution of e
(a) Heavy metal (b) Phosphate
(©) Fluorides (d) Nitrate

12. Baltic Republics do EOT include which of | 12.
the fe i :
1. Denmark 2. Estopla

. Finland 4. katvia

gels;t the correct answer using the code
given below :
cﬂ:.an d2 (b) 2 and 4
(=) (d) 1and3
(c) 2 and 3

EEST - 04

foam, 2021 a wed 7 P

it -/ o v B/ 7 :
| R 23 FE, 2021!%"‘“7""“
. ek o v 3 fort e’ ot |
ﬁ&a@aﬁzawmﬁﬁt

E%ﬁa ) A1 A2

() 1 30 2 2 (d) Faa 2

Freaferge @ forer g 3, oot 3 o
#1 JeaE e 2 7

(a) AT (b) 7

(c) a1 (d) oo

i dfur § e aduris @A & o
“9qm IX B' WS T ?

(a) 52 & FawTFE HAEA

(b) 97 & Hawifie FEnEA

(¢) 93 &l Wty T

(d) 73 af Tdwif G

frfafigs § @ $H-1 6 U7 WA § &0 #
TG INEH B 7

(a) TS (b) FAIEH

(c) T N (a) Jnfsa

v # fore dfem e & g HeeH W 3
21 o ¥ werE 18 a¥ w & W ?

(a) 56 a1 (b) 883

() 72 (@) 6173

e+ fergi foerds srqwon 3 v B R 2
(a) ST UTQ (b) W

(c) FENUEEH (d) TR

aifees ot Pt 3 @ R Wi
e

|, T 2. wRif

3. feedte 4, wafaa

A9 R M g2 D Wl IR

L TN

@ 132 (b) 2 34

(c) 2 3 3 (@) 133
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Which French traveller called Kashi as | 13 fig Wit arft 3 wreft W wwa 5 LOEN
‘Athens of India’ ? HE T 7 T ——— g,
(a) Thevenot (b) Manucci (a) AT (b) W
(c) Tavernier (d) Bernier (c) 2atfrm (d) wffm
Which of the following App is introduced SRR T T T, 202 i
by the Election Commission of India in (/ ¥ H b % aiﬁ"ﬁ, e lh
October, 2021 for digital mapping of al] TIe : ﬁqﬁf‘?’lﬁ;
polling stations ? =41 09 v fm o B 7
(a) Ajun App (b) Chatbot App (a) 31—@ iy (b) Azatz Qq
(c) Trishul App (d) Garuda App o (o) ﬁ’lﬁ i (d) T
Match List - [ with List - Il and select the 15 T —na W H1fam A
correct answer from the code given below & foa :_?' 4 ad " I g
the lists : % N §|
List - I List - II Tt - 1 g9 -1
(Blue Flag Certified (Location) (== v wmmoT (srafeafa)
Beach) o wz)
A. Ghoghla 1. Andhra .
Pradieat A. Hrere 1. 3y w2y
B. Kasarkod 2. Kerala B. FTEThHIS 2. #w
C. Kappad 3. Kamnataka C. g 3. FAzH
D. Rushikonda 4. Diu D. sfrEier 4 #m
Code : i
s e S & c b
‘a‘,‘ 3 2 ; 4 @4 3 1 2
(® (b) 4 3 2 1
€3 4 23 1 ©3 4 2 1
(d) 3 B 1 2 (d) 3 4 1 2
watch List - | with List-l and select the | 15 &< _ 1 - 11 ¥ giftra i 71
oorractanswerﬁomthcoodggivenbelow Sﬁ%ﬁﬂ:gﬁ A wd .
the lists : RICE T4 IW g
List - I List - IT T -1 weft -1
(Code) (Year of (wr2) (Fm e
. Introduction) wad)
o Oode.of Civil Pracedure . % 1850 A. B3 3% fafae i I 1862
B. Indian Penal Code II. 1859 . o
C. Criminal Procedure Code II1. 186] B. 37 i I 1859
D. Police Act IV. 1860 C. frfimet wfor #1g 1. 1861
Code : D. yfera IV. 1860
A B Cc »p i
fa I 1v I | = A B C D
(o) M v m g @ m v 1 m
) I M v I (b) 11 v 1 |
@ Iv 1 m @ n m v
d v I m
4.
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20.

21,

/Which of the followin

“Chitrakote }'aterfall' is located ?

of the same th::wga?i.‘-liil:%si:\c-gr“\cm )
() Kelvin and Joule ‘
(b) Newton ang Calorie

(€) Kelvin angd Calorie

\]0 l -~ .
@ ule and Calorie

h B Article makes
Provision that “the law declared by the

Supreme Court shall be binding on all the
Courts within the terri " P

(a) Article 140 (b) Article 143
(c) Article 142 (d) Article 141

With reference to Delhi Sultanate consider
the following statements.

1. Sultangarhi was built by Sultan lltutmish.

2. Located in Delhi, it is the first tomb
built by Turks.

Select the correct answer using the code
given below :

Code :

(a) Only 1

(b) Neither 1 nor 2
(c) Both 1 and 2
(d) Only 2

In which of the following States of India

e e ——
(a) Uttar Pradesh

(b) Jharkhand
(c) Chhattisgarh
(d) Madhya Pradesh

ol O

(a) President

(b) Deputy Chairman of NITI Ayog
Hhion Finance Minister

(d) Prime Minister

18,

19.

20.

21.

EEST - 04

P # A3 g w55
bt w wfaffire s 7
IH’W“F

(b) A v Heil

(c) WfEw vd Hend

(d) 9= A Herh

e it & T =g T g w8
e AT ZN A HEE WA ¥ T
35 s anft e 3 ford ad f 7
(a) B2 140 (b) FI=BZ 143

(c) ST=DE 142 (d) FFZ 141

et wredm % s # Frferfiga wot  frm

#ifsma |

1. geard) @ Pt geam el 3
HEw 1 |

2. et # fora 72 g g e e e o |

W fed 7 g2 F1 T R A I -

#ifm :

F2:

(a) Ha

(b)Fd 1 3dRTH 2

(c) 1 a1 2 @i

(d) e 2

‘s s wra ¥ Frefies o=t § &
foutl safeE ? 7

(a]mﬁ’ﬂ

(b) FETE

(c) BEETR

(d) W Wem

faer 3 & @ St A, weg 1 e g R 7
(a) Trsgufa

(b) Hifa ST = NN

(c) ¥ famnsh

(d) e
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A Acetic a Ant’s sting
B. Lactic a 2. Spinach
® C. Formic acid
D. Oxalic acid 4, CWd
: "
A B CIDW
(@17 2 3 G NS
©: +«+ 1 2™
4 3 2
@2 4 1 3
25. Which ing i
i t:h ec:’n; of the following s NOT correctly
(a) Shaukat Usmani = Kanpur
' Conlpiracy Case
(b) Khudiram Boae - Asaembly Bomb
(c) Ashfaqullah Khan - Kakori Train
Robbe:y
(d) Surya Sen rf: ;::olt
Cue

24,

What is the rank of India in ‘Global Food
Security Index, 2021'?

(a) 54
(b) 83
() 71
(d) 62

In the battle of Chandawar (1194 CE) King
Jaichand was defeated by Muhammad Gm_':.
Present geographical location of Chandawar is
(a) Etawah district in U.P. at the bank of
river Yamuna
(b) Varanasi, U.P. at the bank of river Ganga
{¢) Kannauj, U.P. at the bank of river Yamuna
(d) Prayagraj district in U.P. at the bank of
river Yamuna

Match List - [ with List — Il and select the
correct answer using the code given below
the lists :

® =

24,

25.

4

~

EE‘,S'I‘..O4
‘Afva @ra g guwiE, 2021 nmnh
w7
(a) 54
(b) 83

SD71

(d) 62

?ﬁﬁwm

wfsa g3 | JeE # a#mﬁtﬂmfa;%

%)3.9.%mmﬁmm$wuv

(b) aryorEt, 3.9, § WM AE F AT ™
(c) =1, 3.9. H IqN 48 F A2 W
(d) 3.9. % TATRIS TG H T T F 7 o

gt - 1 H g - 1 @ gafem Fifwe 7
& 19 fed ™ g2 & e Iw gt

TR -1 gt - 11

A. TafeE 3w 1. difeai 2=
B. dfdes = 2. U

C. BRft® 3 . fa=

D. A& s 4. TE

He:

A B C D

@1 2 3 4
M3 4 1 2

©4 3 2,4
2 4 1 3
ﬁqﬁiﬁaﬁﬂﬂwqmwgﬁ%ﬂaﬂ%?
(a) ¥itera Iearh - HAY §gIH FE
(b) G Wy - v T TG
() MPFeeme @l - wrerd @ G T
(d) gam - wea fage #1%

(% (orse 1 M2
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alculate the capacity (vehicle ufy ) o A e
- I ) areA ufa =) ‘
the road when reaction time of {,}: ‘;:1:::1 'l: 26, wgwh H W‘zéa R fa go e ‘
2 seconds. The design speed is 80 kmph and picde £ 3htaa wvard 6 Ha 2 ‘
aver&gF‘ length of the vehicle i8 6 m. Take ofy w1 B iyt =TEA
coefficient of faction is 0.35. ' ¥ 1Tk 1 HH 0.35 ] h
(&) 600 b 724 ta] 600 (b) 724 \ by
(c) 700 (d) 653 (c) 700 (d) 653 (‘
27. 1f the intensity of rainfall is more than | - i & fraa g2 ¥ 7 -y
: = 27. afg adm (rainfall)
the infiltration capacity of soil then the” ; ) wftr 2, @ FawA &
infiltration rate will beul S g";"m“on' 3 ' J
(a) equal to rate of rainfall l;il im0 & W |% §
(b) more than infiltration capacity (b) 3=.HH ufgm # wfus ’agay i
(c) more than the rate of rainfall (c) adm & | wfa® o
@ SRL RO S (d) =.a ufed & wue l
28) An approximate value of the drag coefficient | 28, T& 34 Teehr 402 % 37 (drag) T
.'~ af a hemispherical parachute is WI“TF"‘“ o 2 :L
la) 2.35 (b) 0.07 (a) 2.35 (b) 0.07 b
(c) 0.30 (d) 1.33 (c) 0.30 (d) 1.33 "”:;/D(’
Forerit T #TE
29. The natural process under which the flowing | 29. |l i ﬁfﬁl agal g1 ¥4 = .
river water gets cleaned, is known as & s B, FEd 2 280 cs
@ Self-purification é‘"' ) F= ~254) { ' &06 00
I AN Vﬁo CIcicay \
(b) Oxidation /Q( AR ‘ e \
(c) Photo-synthesis ) Qb/ A \(C) TR~ HTT 5 X e 145
“ v~ - i
None of these &yd, ¢ elad) ¥ & &1 T %0
-ed flow dy/dxis posiive, | 30. g i Bt S8  dy /o VR 8, T AE/ 19,
30. Ifin a gradually varied flow L5
then dE/dx % 1\ (a)WW%“&Y>YC j"‘cj \ KZ\'
(a) is negative, ify > Ye /‘ﬁlo . O W FOTeHH gl ? \ 4’/\_@; k
(b) is always negative ‘67 (c) R AT Bl 2 “ 1
(c) is always positive 1 L?& (d) TR g & AR Y/ Ye > 1
s sitivcilj_/_!f_f_____ ‘
o 059, its | 31, TR A e 25% &, v v R
31. The field capacity (-),f,t?si(g:/o‘:nd_ggs’si.@-q— firg 15% & ol fafire S TS W 1.5 2 R
permanent wilting r;og If the depth of oot fell e % g & Y TETE 80 cm B, A
dry unit Wngljlt 150 m A capacity ) ey & -g
zone ol a ctop s 80 €1 8wl (b) 14 8f
_of the soil is (a)
(b) 14 cm (c) 12 &t (d) 10 Felt
(a) 8 cm (d) 10 cm a8,
m
\MIQC 6. "/3 -1- C) T 4 s_q_% s
( D a = g‘e 6 x 8 .,-l ‘ . q i
(@) 6 b 2 = "
Dwﬁg ltc\q’ ‘?6’ a {06‘g
w3,
i
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In GIS, interpolation is made possible by a
principle called,

(a) spatial auto correlation

(b) Thematic auto-correction

(c) Thematic auto correlation

(d) spatial auto-correction

33. A 4 hr. storm with a uniform intensity of
1.5 em/hr produced a runoff depth of 40 mm,

The average infiltration rate during this
storm is

(@) 4 mm / hr
{c) 6 mm/ hr

(b) 7 mm/ hr
Smm / hr

34. Inarectangular channel, if the critical depth is
2.0 m, the specific energy at critical depth is

@&8.0m (b) 2.5m

(c) 2.0 m (d) 1.5m

35. The alum added as a coagulant in water
treatment functions when the raw water is

(a) Acidic with high turbidity
(b) Neutral with low turbidity
([© Alkaline with high turbidity
(d) Acidic with low turbidity

36. Salinity of water

(a) Increase evaporation

(b) Does not affect evaporation
@ Reduces evaporation

(d) None of the above

@Which of the following methods of designation
of crossing is mostly used in India ?

(a) Centre line method

(b) Isosceles angle method
Right angle method

(d) None of the above

38. The time scale ratio for a model bgged on
Froude law criterion in terms oflength scale
ratio Lr iq

(a) Lr

1
© /Jir

(b’ Lr!s

Ve

32.
33.

34.

35.

36.
37.

38.

'.- @

w -4
M i

AD
60 — 20
— (=)

EEST-04

T

P

ot 3918w ﬁﬁﬂrzmmmmwm
A A R w2

(a) EfiE 312 Fifrdtea

(b) drafew 32t *wtawrm

(c) e w21 #Fifrerm

(d) Tifire 3112 Htawm
l.sﬁxﬁ/daﬁqasmmihmaa'a;

T 3 40 fa. . 1 sr7am mevd &5 7o o
?lgﬂ TEHA % 3 ez gad2 (infiltraso,
(14

(a) 4 faft. ; gz
(c) 6 faft. ;o=

(b) 7 fasf. 9z
(d) sfadf. /a9

% ATHR I & 7 wifes T 20 2
Al shifas mewd W fafire =t 2 2 /Z
(a) 3.0 #i. (b) 2.5 . )

(c) 2.0 . (d) 1.5

T ITN F fore Thew & =9 4 e 1 fozeht
alGq T Ft & I Fow1 = 2 .
(a) I=9 gAY F |y =T
(b) = AN F WY I
(c) 3=9 TEENE F wY &g
(d) = e F WY s

9t § FEviEr (Salinity)

" (a) ATSfiEH wgET 2

(b) aTsfiRTur iyt T8 wn
(c) AT FH w7
(d) 390 F § #é TE

YR ¥ -8 Hif wfuwe w@m g 2 2
(a)ﬁﬂi@ﬁﬁl

(b) wufeaTg Wiy fafy

(c) TRty fafy

(d) I9TEa o | F1¢ 78

i R F A Lr % wed § wrE w0
(Froude law) WH&8 W 3uifta s wige % L

g A 1 3uE R
(a) Lr

o Vi

(b) Lrl 5

(@ Jir
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bo I S I o | 04
rding to Lacey, dep YT EEST -
P Orﬁ(‘

" depend : StQur
If DI the . . s'ra‘ggﬂcss(}cﬁi}: :C:f,",' 9 A # @ & ohvm B ek TEE B
N fepr- U N 4 preiy :
a right angled bend, thep ls’i‘?]l{lr%: ]TT:W i mm m’ﬂ. i ﬁmmg'muﬁ ;) ;T ;

l_!;-;»‘i;_}q_z;_ mar .,_J.'.vul\,oa-z-.-._ e

i .'ih‘"‘ ) FH

{a) 1.25D () 2
0
(© 1.75D el * w8
B =00 (a) 1.25 D (b) 2.00 D
40. If a turbine developg 2515 (c) 1.75 D (d) 1.50D
. S kW at -
the torque in th . at 240
400 kN © shaftys M 40 v zatyr 240 smftom. w 2515 fEetae
(a) -m 100
() 1000 kN-m VO KN-;; fawfoa s d1 e d ok P 2 2 0276
(d) 3335 kN.m (a) 400 kN-m (b) 100 kN-m 5=
"’T A liquid flows in a 30 ¢y g (c) 1000 kN-m (d) 3335 kN-m
“ diamet i
a Reynolds numbe ,, €T pipe at | | ; .
factor is 0.025, th; ?ﬁiiffn‘ If the friction | ! *38 @@ 100 w 30 #h = % w7 # o=
- sublayer, in mm is €8s of laminar WA wwan B af2 wdor w5 0.025 2, @ . A
i ™ 0035 ) 0.0031 < A evrmgiieri §
{c) 0.062 d) 1.00 : (a) 0.025 (b) 0.0031 e 0
c o ¥ 30K
_ (c) 0,062 (d) 1.00 5
@ The following surveys are conducted befo S - ] 103
Q. the alignment of a railway track. re | 42. AW 0% % Hiaw & A Frfafaa sdam s
1. Reconnaissance survey T E &_ 6
2. Preliminary survey 1, 2 wdem BT Tean
3. Traffic survey 2. Rfys gdam - al
- - _ 0%
4. Location survey 3. AdETd Hd&or 1‘57:( == .l
The correct sequence in which these 4. M g Ceﬁ»vv',- e
- surveys are conducted is Hel w9 o 3 gdaw fen 9 £
# l'?'f’; @? 7 ¥ 13,24 () 3,1,2,2
i) » 4370 (] ’ ,4,2 (C)3,1,4,2 (d) 1,3,4,2
The velocity distribution over one halfof a | 43. T ¥PRY T2 F I WM R ¥ B v 595
= cross section is uniform and is zero over the .
remaining half. The momentum correction %ﬂtﬁflaﬂﬁmm:ﬁ%,m PR e
factor for this cross section is % forg wam gum v 2
@20 (b) 3.0 (a) 2.0 (b) 3.0
fc) 1.0 (d) 4.0 (c) 1.0 (d) 4.0
44. Which of the following is NOT a method used | 44, F=fafa & @ a-+ <=-2aw sdww € iy
for plane table surveying ? *mm?ﬂﬂmi?
Back scattering method (a) ¥ Thefon fafy
(b) Radiation mcthOd ‘b) féﬁ?(“l [Radiation) ﬁﬁi
. (c) HIAEA (Traversing) fafy
¥} Yomrersing mettiod d) 9RreBE (Intersection) il
(d) Intersection method ( ntgracction)
: _ 45. fusnesh W R
45. Rheology is the Bf'iudy of (a) AR W
(a) Newtonian fluids (b) A - w=
() Non-Newtonian fluids (c) med T
(c) Ideal fluids (d) ¥ & ®r§ T (o SN
(d) None of these gf' _ \‘L‘ﬁ

9 ﬂ _‘
34)5?2% 2 : 2(2;@ N 1
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46.

47.

48.

/9.

50.

Sl.

52.

The flow velocity in a sewer does NOT depend | 46.
=t A Rointe= =

on
(a) its grade

(b) its roughness
c) its hydraulic mean depth

@ its length

»
[

Errors arising from carelessness of the | 47.

bserver are known as
mistakes
(b) systematic errors
(c) compensating errors
(d) discrepancy

Which amongst the BOD and COD of glucose | 48.

water is greater ?
(a) BOD (b) COD
4(c) Both are equal (d) None of the above

As per IS 10500 : 2012, the maximum | 49

desirable limits of iron and fluorides for
L - ———————
drinking water are

(a) 0.3 and 0.5 Mg/L, respectively
(b) 0.5 and 1.8 Mg/L, respectively
(c) 0.3 and 1.5 Mg/L, respectively

(@ 0.3 and 1.0 Mg/L, respectively

If the base period is 100 days and the duty | 50.

of the canal is 1000 hectares per cumec, the
depth of water will be,

(a) 0.864 cm (b) 864 em
J9186.4 cm (d) 8.64 cm
Zero hardness of water is achieved by 51.

(a) Using lime soda process
(b) Using excess alum dosage
\I¢¥Ton exchange method

(d) Excess lime treatment

Switch angle depends upon \,.@ 52.

i. Heel divergence
ae ‘——-————-
ii. Length of tongue rail
iii. Flange way clearance
iv. Throw of switch
€ correct answer is
7iand il (b) iand iv

(c) iii and iv (d) ii and iii

PEENEERSTE T 559 Al |

, d
X’%@/f ) 3 (’3&[‘,2‘_
V"'&,@>/ EEST..m
ue ot § warg an fif 7@ # 2
|a)3’ﬂﬁﬂ'§‘u
(b) ¥EF GEAH T

(c) 3 grggifer wreg MRUE W
(d) a6 FEE W

e ) ATETE & I B el 3 Fwemd o
(a) TTETd
(b) feem & Ffe

(c) afayfd 3fe
CIRELUIG

@ gt § BoD 3 coD # @ afuw =
g 2

(a) BOD (b) COD

(c) ST st (d) I § & FH 78

IS 10500 : 2012 A& & AR M F o
& forg o (smaw) s weRge @ s
areg @ wee: @

(a) 0.3 3R 0.5 fy.m. /=ft.

(b) 0.5 3 1.8 fa.m. /=,

(c) 0.3 3 1.5 .. /&,

(d) 0.3 3 1.0 fir.a. /ah.

afe T8 %1 &1 (Duty) 1000 FFW T
FUREA100 fe7 2, @ ot 6 mgad wnft

(a) 0.864 .1, (b) 864 &4t
(c) 86.4 ¥, (d) 8.64 /.1,
It 1 FRA F [ T FA F g

(a) STEH Frer faft s+t
(b) At feestt &1 3wam +it
(c) 3 fafag fafy =t

(d) 3eafus 91 ITER Ft

fers = finf =

i. ¥19 & %omE W

ii. M & ) oA

iii. T 9y Y

iv.fﬁ?ﬂﬂﬁa‘ﬁ

T wE" R

(@) i 79T ii (b) iaYT iv
(c) 1ii T4 jv (d) i @ iii
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Figr A
/83 On a hydrograph, isolateq
 rpresentedag A oy,

(a) s-curve
(c) multi peaks

b
(b) r‘?mpk,x —
ey Sigle pe.
~—_ Beak

54 When the recirculation ratio jn

r trlckhng filter is unity, then the :’ilhi X :
factor is recirculation
(a () zera
(c) less than 1 more than |
An

§5. The camber provided on :
1 in 48. Which one of 1h3 %ﬁg‘mg road is
ruling gradient ? ng 1s the
)1in 15 (b) 1in
2 30
Lin 24 (d) 1in 20

@f Which one of the following methods can
be employed for plastic and

i~ . disposal ?
. (a) Sanitary landfill
% (b) Incineration

¢® Pyrolysis

(d) Composting

O
Q:EV

-?’l The product of traffic density and traffic
speed is termed as

2 ‘Traffic volume

‘.E (‘i)l Basic capacity

" (c) Traffic capacity

- (d) None of the above

58. A camera equipped with a 152 mm focal
length lens, is used to take a vertical
photograph from a flying height of 2780 m.
above mean sea level. If the terrain is flat
with an elevation of 500 m, the scale of the

photograph will be

\s¥1 : 15,000
(c) 1: 22,000

(b) 1:24,500
(d) 1:20,000

%\ e to which property of mercury, it does’
% NOT stick to glass ?

(a) Viscosity

i Adhesion

! : ._ ( hesion

B ﬁzr{ace tension

D Ay 167

£ 64y

| A p64

rubber waste |

c
\ﬂ:q’%)mzq/

V\Q

EEST - 04
53w mrgm W v He/qEE # vaiid fea
w1 R
(a) UH-35h (b) fuftra farat
(c) @R fara (d) vee famEr

5. afe geaz fgwfem orma § g afeEo FgT
TS R, A qA: ftEen Fwe gt

(a) #fel gfy v

(b) #f™ <= _ 2—7//‘?

(¢) et 2 x!0
o &

(@) e B e

57, ARG ged 3N AraETd Sl fd & UE (I92)
@i Far W AT 8

(a) TTATATA ST HTAT S= ke ('05'

(b) T & gr8e=

(c) FrarTd i &HHAl !

(d) I H-A Hr§ TE - /r—ge’DD

58. 152 futi. Siee oy ¥ A9 UH FH0 F IFGM
gz % 3fga gag & 2780 . f I A &
Feate qedie o & fore foman s 2 ) 3 spam
guad & 3 500 Hiet H F9r W R @, @

HIRITE 6 Ehel B
(a) 1: 15,000 (b) 1: 24,500
(c) 1:22,000 (d) 1:20,000
59. wﬁ#mﬁm%m,aﬁmﬁﬁwm
27 ‘
(a) YHTEAT
(b) HTHIA
i 2200 (U5
(d) 9= @@ ’57-) 162
. 2 B 7
\\)JS\ 240

ol =0 TR LA T )

o S ﬁC/D'
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(a) 1 (b) A
(c) 18 &9 (d) 18 Hfg=s
55. U Zel HEH W FeA 48 H | &= A 2, Al
(a) 159 1 (b) 304 1
(c) 24 % 1 (d) 20% 1 27

56. wifees 791 @8 & ufre F fiver % fom /L%

3.
H-# fafu =1 e w2 2 Z}Qo%/

L e— s SERNESSERGEENE W MM e s

1 P
DlLIR
i
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BT

jump in a rectangular channel is 16.43, the
Froude number at the beginning oftho‘mm,,

" - G120

] (a) 5.0
* (c) 10.0 (d) 8.0

If the impeller of a pump receives liquid on
both of its sides the pump is known as

(a) Single stage pump

(b) Double suction pump
() Single suction pump
@ Double stage pump

The minimum size of grit articles that can
be removed in@% i

(a) 0.05 mm (b) 0.50 mm

\9120.20 mm (d) 0.10 mm

63. What is the relationship between the flying
height (H), the focal length (f), the air base
(B) and the photo ease (b) ?

61.

62.

g e UL 11 JTrppn? ]
_L‘? 2

61.

62,

63.

64.

65.

66.

- f L H
Dul Wi et
8 # (gp.b - i - 24
f.H f
The lost time due to starting dela ,,
\ signal approach is T to be 3 seconds,.
The act}lal green_time is seconds and
amber time iy3 secons S. How much will be
¢ the effective grren ; ?
ifg sec. ) 35 sec.
LW f (¢) 29 sec. E 22 sec
65. An angle measured with theodolite is o with
weight 2. The weight of %wﬂ! be
o/ 2 .
7 @ 2/ v 2
& @2 (d) 2 x4
——

66. According to recommendations of the Nagpur,
Conference, the formation width ofiﬁgli:l%;ﬂ‘
Nationalﬂ_imxmgis
(a) 12 m @ 07.50 1
() 09 m (d 13m

| D = -12-
| f g =

12

J/,

’ o apse2 = L
) ?H the sequent depth ratio of a hydraulijc 60. @mwﬁmmﬁ .

RS 16,48 B, JTe 1 I 1 73
He B
(a) 5.0
(e) 10.0

ufé o e § g F0 ard &
B R, @ w5 B

(a) Uhel W gy

(b) 3 o7 qug

(c) el qup qig

(d) fz ==

W2 e & 7am s 31 iz i Fran
Sl Heha 2

(a) 005 fiy, =, (b) 0.50 fir.=ft.

(c) 0.20 fir.xf. (d) 0.10 fiy.f,

I3 F97 (1), 71y (focal) Tt (), &aTé 3mum (5,
ad1 Bl HR (b) § 1 rawy 2 7

Frr’“h‘n

(b) 12.0
(d) 8.0

a:ﬁmﬂ'fam

A ;

@) B= b) B=tL
b.H b.f

() B=_P (d) B=2H ,‘
f.H f

U AT Hhd B IF 0 9 999 72 357
3ﬁéﬁsrﬁzﬁmwmﬁwmzsﬁi——sé
mﬁmmsﬁ%ﬁalﬁfmmmm

am 7
(a) 19 9. (b) 35 131
(c) 29 §. (d) 22°¥.

frieiase & a1 man o Fvr @ 2 F \ B
2 %%aﬂw%mm@m

4
(a) 2/: (b) 2
(c) 2 x 42 (d) 2x4
TG FEA F H F En s w
Tt & fmfor it <verd
(a) 12 . (b) 07.50 H1.
(c) 09 Hi. (d) 13
- - bcc.t’\_
etRett d beX
- .D,Cp_u\\faw et
'Lgf\'y(;(
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L
= JI+0¢
o s

What will be the the

. : etic, |
capaClt‘y for a Smglo IHM“'”

[ hi
‘* speed of the traffic Stream linghwa_\. if the
(round off 10 units) -S-JQJunph >

\a3000 vehicles/hy
(b) 2010 vehicles/hy
) (c) 2510 vehicles / hy.

% [d) 2860 VChl‘Ck‘s/hr‘

23

" 8. Benkelman beam defi

% for design of €Clion methoq i used
% a) Rigid overl -

¥ (@) E‘I erlays on rigid pavemes

2y (b) Flexible overlays on rigid Pavement

o s

@Flexible overlays on flexible Pavements
. {d) Rigid overlays on flexible pawmenté

The discharge throy gh

aVv- :
a, (where, H is the head) noteh varies as

) 02

:
& ¥
- P

70. Ifthe reduced bearing of a line AB is N6O°W

and length is 100 m, then the latitude and
departure of the line AB will be,

(a) + 50 m, + 86.6 m
(b) + 70.7 m, - 50.0 m

-\ 750m,-86.6m

(d) + 86.6 m, - 50.0 m

5/
(b) H/4

A VY By e

If “V’ is the critical velocity of flow in a
channel, then according to Kennedy, its silt
transporting power is proportional fo
72
72 b) v /2
(a) v, E ®) v,
3
CIRZ @ v, 2
—
The similarity between the forcw
and prototype is
@ pynamic similarity
(b) Design similarity
(c) Kinematic similarity
(d) Potential similarity

@4 - )

' w bx

!

13

.13-

68,

69,

70.

5 2

72.

5)x3%3 =
)

(2432 -M> = gen?

Fo(" gEsT - 04

v - WEH T A e i =
Pt v s AT i A 40 e, /62 R 7

(zm qfyz % Toie o) r (90\%./

(a) 3000 ATEA /T2 Ul

(b) 2010 aT&A/5721 + 4

(c) 2510 aATEA /521 ;;o-wb“,{

(d) 2860 arEA /521 :OE_K@-&—J ¢
#Wmﬁmiﬁ%ﬁﬁq%m?*kg
fem o0 X%

(a) HaN Ffew 7 FAW FTE ' ""?/’-:_
(b) 3t Ffgm o1 759 HET 2

(c) T2 Ffzm g 721 Hram &

(d) 7= Hfgm o w3R A, N}

UF vt 7 fagm freaR g D

(w3 B o e
1/ %

() {2 (b) H* <
%

(e) H'? (d) H?

A7 7@ AB %1 freg® f¢5#9H (Reduced bearing)

N60° W & 79T m=$ 100 M. 2, a1 AB t&1 #1

#feze (Latitude) @91 f8UrR (Departure) 2P0

(a) + 50 Hi., + 86.6 Ht. = &0

(b) + 70.7 ., - 50.0 . teQ X C‘?,

(c) + 50 ., - 86.6 . 190%5, =

(d) + 86.6 H1., - 50.0 #t. OO % ’c;; ‘,E:P% :

R v fedft e & AR = w9 2,

?ﬁm*mﬂiﬁm (Sﬂt]m%

TR Eft & ey |

7/ |

() Vo}é () v, "2 i
5 3 1'

(©) vo/z CIRE

ﬂmmm%ﬁ(fom)%ﬂ?m%

(a) Tifarefier wwEa

(b) fesmga wamm

SRUGER:EIEG]

(d) EvTfaE wwEa

\ 4
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|
73. Ifthe ba&_’»c Period of a 6 hr. unit hydrograph | 73,
of :12 basin is 84 hr. then, the base period of
a 12 hr. unit hydrograph of the same basi
will be F !
\()T90 hr. (b) 168 hr.
(c) 72 hr. (d) 84 hr.
74. The pressure in “Pascals” at a depth o 74,
below the free surface of a body of watdr wi]
be equal to
(a) 1 Pascal ®\ f
BT 9810 Pascal A %
(c) 981 Pascal R‘®\
{d) 98.1 Pascal }

@ With reference to lining of a can ich of
the following statement is/are correct ?

L. It is necessary to minimise the seepage
loss in canal.
1. It increases the discharge in canal
section by increasing the velocity.
Select the correct answer using the codes

given below :
(a) Only i (b) Neitheri norii
{s¥Both i and ii (d) Only ii

76. In a sudden contraction, the velocity head
changes from 0.5 m to 1.25 m. If the
coefficient of contraction is 0.66, the head

loss in this contraction is
{a) 0.133 m (b) 0.648 m
(c) 0.644 m @ 0.332m

77. A manhole is generally classified as a deep

manhole, if its depth is more than
e ———

(a) 0.6 m (b) 3.0m

@_1;5—2____ (d 1.2m

78. w measures

(a) absolute pressure
(b) standard atmospheric pressure

@ local atmospheric pressure
(d) gauge pressure

14

T

76.

T,

78.

-14- \ “
8 L¢

EEST-O“ 4

o #ftm & ﬁwwmﬁmm
84 w1 R l, 12 a1 v gwSE A o,
yafy 3t dfi % fon anfr

(a) 90 %21 (b) 168 &z

(c) 72 &1 (d) 84 w2

Mmﬁmﬁwmﬁuﬁ;ﬁ-aﬁrm
T qRF" | g & WA gm

(a) 1 9T

(b) 9810 e

(c) 981 qrEFa

(d) 98.1 §F=HE

U 5t ) amefin F dod § ¥h-m e
w27
i T8 A fra & JHEA B E 2

ii. &M g TR @S F g 5 agEn )
412 fed w3 w1 @ =W I D =

(a) Faet i ) IMiFRTE
(c) i T ii 31 (d) Fa ii

% T (contraction) & 31 ¥ 0.5 . 3
1.25 . e &g A1 R WA S 0F 0.66
B 39 " A o 6 @iy 2

(a) 0.133 7. _ (b) 0.648 .

(c) 0.644 . (d) 0.332 .

T B8 & WHAR W O TR g H w9 §
i b wen 8, af ot e @
Ffus 2 .

(a) 0.6 . (b) 3.0 #.

(c) 1.5 . (d) 1.2

&g 9 9 R .

(a) T T = wes

(b) W& IHESH gErE

(c) ¥THa argHsey car

(d) I gEE

0’8’

AL

=4
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“ Geostationary satellites have

| same disiance from carths cenge
: (b) same angle with geodetic stations
{c) same mass as global weight
(d) same speed as earth's rotation

j’%‘usted
\ ¥

~ 81. Various water treatment
below :
1. Filtration

~ 2. Chlorination

B 3. Sedimentation A 9 g
4. Coagulation
S. Flocculation

The correct sequence of these processes in
‘a conventional water treatment scheme is
{@s,1,2,3,4 (b) 1,3,4,2,5
(€ 3,4,51,2 @’4.5,3,1,2

According to Indian standard, the number
of rain gauge stations for an area of

| km? in plains should be
7k 10 (b) 25
e 20 (d) 15

~ 83. While testing for COR of sewage, organic matter
| isoxidised by K,Cr,0, in the presence %
. @Ha (b) HNO,

3 (d) None of these
®nso,

A rectangular block 2 m long, l-m-wade and

. dept
1m deep floats i water. '_I‘hc
immersion s 0.5 m. If water weighs 10 kN/m"

Then the weight of the block is
(a) 5 kN (b) 20 kN
(c) 15 kN @IOkN

ex Of measurc

%n_.;

B

{a) Resistance due 10 friction
Resistance due to rolling
o due to deformation

(d) Resistance due 0 shear

15

— ey
A : ek u{z

Which of the following is'd\im'?, |

(a) Specific weight ENsionless 5
3 @M‘-‘ gravity
{c) Specific viscosity
}; ‘ w Spedﬁc volume
<]

80

81.

82.

83.

84.

85.

-15-

'\\&’p 0S¥ EEST - 04
e @ # Sramd R 7 ‘,')5
(o) fafirez &5F s X% b
(b) fafiree 6 '

() fafire ferafirTez I/}g:/
(d) fafire amn 90’( 5
wfer s # # R 2.2
(alW*ﬁﬁmq& "0}\

(b) Frarafes REl & Ay wuE ®
(c) Afvas ¥R F GAH ZEIH
(d) geht & g F w9 A

fafi=r 9@ v s 2 gefrag &)

1. frerzm

2. st

3. JEAwEA

4. Thed

5. FHAYA

ot @ WA a8 39 s 1 A
2

@s,1,2,3, 4 ) 1,3,4,2,5

(c) 3,4,5,1,2 d) 4,5,3,1,2

¥ Tee % 38R, 5200 .42 FEEE EE]
¥ fru, frad Wi (aiares) =w= & 7

(a) 10 (b) 25

{c) 20 (d 15

eeE ¥ COD ¥ whaw ¥ smtw ¢l #
chgo,ﬁﬁmmﬁ.ﬁﬁﬁm“
{a) HC1 (b) HNO,

(c) H,SO, () ¥H & I T

raarER fve 2 @, e, 1 HL S
1 i, T wr & A @, g g ek 05
afe TR ®1 YR 10 kN, @ s w1 W
B ?
(a) SkN
(c) 15 kN

et 1 A Rra g R <3 Wigew 7

(b) 20 kN
(d) 10 kN
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Exit gradient is directly proportion}}ﬂ\ =
3 ’s«pagr load o
{b) Creep length

87.

89.

91.

92.

D

R IR |
g

(S

(c) Depth of cutoff
& None of the above

The Bernoulli's equation is applicable only
for

(a) Irrotational flow

(b) Compressible flow

@ Inviscid, incompressible flow
(d) Viscous flow

The Buckingham-Pi theorem is widely used
in the dimensional analysis and expresses
the resulting equation in terms of

(a) the repeating variables
(b) n dimensionless parameters
@ (n-m) dimensionless parameters

(d) geometric, kinematic and dynamic
vaniables

Creep is the

«af longitudinal movement of rail
(b) difference in level of two rails
(c) lateral movement of rail

(d) vertical movement of rail Lo
o-

For non-passing sight distance, the height
of stationary object considered is

(a) 10 cm (b) 65cm

() S0 cm 1S em

Muskingum method of routing satisfies the
equation

(a) C,+C,+C,=0

W, C C=i

(
GeyC,+C, +C,=1

{(d) None of the above

If a 2% solution of sewage sample is incubated
{orSdays at m‘cmmw
depletion is 10 mg/L, then the BOD of the
sewage would be

(a) 50 mg/L (b) 2000 mg/L

_js¥'500 mg/L (d) 200 mg/L

86.

87.

88.

89.

91.

92.

@15-
NS S

EEST-M

e Mz (Exit gradient) Eﬁﬁaxgtnﬁ»;
(a) 99 &z A ?
(b) 59 ) oard @

{c]ﬁmﬁmﬂ

(d) 390 F | Aé

TR w1 wie Fae ¥

g 21 &ﬂm’l
(a) FRY=S vaT®

(b) &ifEa warg

(c) fafe, sdifea vam

(d) Faafagr vam

ﬁmmm‘eaﬂwﬂvﬂwﬂmaﬂﬁm
Y § e w1 R 7

(a) AW TR I |

(b) n MW ea Foftex

(¢) (n-m) 3T WEa Fmfiex

(d) sarfirdta, nfes st nfasfte =

¥

(a) 1@ #1 Swmatg iy
(b) 3 & & @ H
(c) @ H wifedfs nfy

(d) & $ Fawy nfy

o gt % fore, o e 8 rd e
(a) 10 &1, (b) 65 ¥ .1
(c) 50 &.4. (d) 15@.4,

&fén i nfedm fafyy whtem #) vqe w0t
@ C,+C,+C,=0

mC,.C,.C,=1

(€) C,+C,+C,=1

(d) I F § FE TE

TESe T B 2% 91 5 @3 % fw 20°C @
TR T W Al 6 w4 10 fn /.
2, @ werw %1 BOD &

(a) 50 faam. /=f. (b) 2000 for.am, /&
(c) 500 fam. /e,  (4) 200 faan. /e
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:'tl. a
.
vice, which can

# The £ be y
i OLI'S i Se
= as well as partic d to Ontro]

» industrial emigs; : %
i .___tn_ls.ﬁmns 18 kn()wnf‘_n)s "',r
S

(ﬂ} Spmy tower
(b) Dynamic Precipitator
. (d) Cyclone

&" Surface tension for gy ideal fiyq is
. (a) dependent on ternperatu;-c
=
(c) infinite
(d) one

N
gu ::' l;::,iu:hzfr:l :tlg(c:rd/arc is in a

Bg‘—-—\

nshi W
D in the curve will be P bet“ie and

.-nyﬁ‘ :.L

| Ak

573
(a) R=2"2 (b) R = 1718.9
D D

) R=1146 D R {1146
D

A check dam is a
—_—

- (a) flood control structure
- (b) water storage structure

& river training structure

g i
o
%
¥

sQil conservation structure

. The unit powethu 61‘ A turbine developing a
power P ﬂm:ler a head H is e’qpaul to

P
o — N e
(cl PH% (d) PJI—'!_

The critical condition for stability of slope of
an earth dam at gdo eam will be

{a) Reservoir empty with max. seepage
d‘) Reservm; full without pore water
pressure .
Reservoir full with max. percolation

-

-

- ™ rate
~ {d) None of the above

ng/éfq)

93,

94,

95.

96.

97.

98.

N-ﬂ) -17- ;
‘ — -T2
W&o sy I b ’é‘wf’? o
f G{ f [

17

77 wiy el fa ¥ @y Hw T wgEE F v "L
shreiitfivas seed & Pra=mn e 2, 38 wea § -
(a) ¥ Zrat

(b) ferefrer e

(c) g/ S freet

(d) T

U% ey ae 9grd % fe1Y 9= @@ (Surface
tension) &

(a) a9mT o Pkt wen 8

(b) I

(c) 3

(d) T=H

afe forelt o o = /Sffer 6t eward 20 9. 2
T 1w IR 9/ feft § = gy g
W&l sdegm Raw fafi D2 7

1718.
R % r-02

o

1
() R=1146 D (d) R=—::—6

TF U &Y (check dam) BT
(a) 917 Fra= s
(b) ST HERV HET
(c) &t witremor d=mm
(d) J&T HET HT=T

U ¥ H % T8d U vt p s 0 e
T H 7S Wt P, P & aoa @nft

( ) ) 3/
a |b
H% H 2

(©) pus @ PVH ;
o Pl ¥ alu % won S & g 6 l
~

# mit feufy gnft af

(a) Aftrehan fEmE & @™ SEE @t

(b) férem O aret  wremwE wa gan

(c) HAIHH 3l Fa! T F W TEA W §H

P

(a)mﬁamm - p—
@ Hin p wg&@
= o

"A

C
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99. Recirculation in “Activated sludge process”
is done to
(a) Dilute the incoming sewage
@) Supply seed to the aeration tank
c) Operate the plant continuously
(d) Dampen the effect of the flow variation

Which one of the following specifications for
the length of base line refers to “third order
R ———

'I‘ﬁangulatmn_"_aystem ?
JH 0.5 to 3.0 km

(b) 10 to 20 km
(c) 5.0 to 15 km
(d) 1.5 to 5.0 km
101. The tower's used in triangulation are known
as
Heliotropes (b) Hunter
(c) Captain McCaw (d) Bilby
102. The water balance equation for a catchment

area in terms of rainfall (P), runoff (R),
€vaporation (E) and storage (S) is written as

R=P-Ez4AS

®) P=E-RzAS P_gr—g‘;j
() R=E-Pzas c $0
PZE@ (d R=P+E=+aS Q'; V/

-~

99,

100,

101.

102.

ns
D>

1\—“

EEST..()*

() ST TEAES HY qaen vy
(h)m&ﬁi’mﬁwwhrm

(c) W= Y @mren e gy

(d) ware afad % s #r wn
;?_:;m AU feru, stam o g fa,
(a) 0.5 8 3.0 fa

(b) 108 20 fi o

(c) 5.0 9 15 i oy,

(d) 1.5 9 5.0 fas oy,
ﬁpﬁmmmﬁwmt

(a) Bferargie (b) et

(€) FSI ke (d) fawh
aﬂ(m,m(m,m(a;mm;
%mﬁmﬁa%mmmm
% w9 4 foran smar 2

(@ R=P-E +as
(b) P=E-R+4S
() R=E-P#aS
(d) R=P+E+aS

103. If the width of the highway is 10 m and 1os.tr&mnfﬁm:ovh.takmﬁm
its outer edge is 40 em higher, the super 40 A, tfies B, At 1fy 3o (super elevation)
elevation is 1 in T 'El
(a) 50 (b) 20 (a) 50 (b) 20

\(,q/zs (d) 40 (c) 25 (d) 40

104. The observation of two photographg | 104. UF @™ QY T H1 v Fger 8
simultaneously is called e wiiErend
(a) orthography g stereoscopy (@) (b)

(c) spectomy (d) gpectrometry (c) m (d) W

105. Following errors are eliminated during | 105. 3= dA& F A Ffefea feat oo

reciprocal levelling Bt 2 ‘
(8) errors due to curvature only (a) AT & oo FR
(b) errors due to line of collimation (b) HET Y@ & wrwr {2
(c) errors due to refraction only (c) T=IT % HRYl afe
D error due to all above (d) 9 & Wt wrwr g
D -
I AP
o b - \D
. _ . eX
56V 40
8]

A

Scanned with CamScanner



19

rO @&
? 21 X7 (290 o L355
26S LS EEST - 04
In the centrifugal pum "
is independent of the f];:s, "_18 Euler’s heaq ; "
(a) Inlet radius of i Pllowing=——"""1 106. % #zvares m v ¥fvd zara F qaR
us of impeller .
(b) Outer angular momentyp, (a) ufrg &3 aret A 5?32 fa=m bﬂﬁ rL
(c) Outlet velocity of triangle (b) arzft #oftg wfq/w=3m % 2
(d) Outlet radius of impeller (c) h\l—ﬂ &1 m a'r' \ f'\%
d [EExi
. Acrosol is known as (d) W e ara i @l
(a) Carbon particles of microg. . .. 107, wrirmie &1 54 2 (SY8 4‘
(‘:: giir;:uly c:ii?ded particles of ::}l:lc = (a) TEA U1 HT H& &9 ?/?:"b/’ ’é/“
@ Sed liquid particles (b) @ ¥ Aot w9 q2.->: =
Di : , s L Gl 2A<
) ai;_i"lTN:l‘swn of solid or liquid particles in (c) Za il =1 faada /‘
4 @/ (d) 318 w1 za it 1 g § FE
ased on ‘30" h 1
() seest o 200 vy wotume 10, st e st o s s
designer willingly tolerate thé . he T W 1, ST Wesl § wE 9 o gaw
operafing conditions ? : T 7 2
(@) 0.33 (b) 30 (a) 0:33 b) 30
@ s.o0 (d) 2.5 \ °)
_ fe) 5.0 (d) 2.5
[ Tt of the.gm Cwater stored in | 109, & & Fgd T 1 AN 7w A 9 A A=
water :u.r--—. e 8, e § T T A, I I B FEA
as - ) T
(a) water conveyance efficiency t:) e mm “ 24 X [
(b) water use efficiency (b) o *’f;’cf
ater appli ciency (c) T ST e QCS?R
{d) norie of the above (d) 390 | § HIE TE L P
110. Which of the following is a secondary air | 110. f=fefiga & & fydfas ag WEEH FA-HI R 7 0 ‘
pollutant ? (a) HTE THITTFETES ‘\/
(a) Carbon monoxide
by Seno (b) T
@ Fly ash L
(d) Carbon dioxide (d) FE SIS
@US day 20°C BOD of a waste water sample | 111. e sfie 9@ % T3 %1 5 7 20°C BOD
is 127 mg/L, then the 8 day 20°C BOD of 127 fan. /&, 2, @ 3eft 7 = 8 fam 20°c BOD
the same sample is (if K = 0.23d"" (basc ¢) ®2 7 (@R K = 0.23d" (3R &) R)
@ 146.3 mg/L (b) 166.3 mg/L (a) 146.3 /.  (b) 166.3 frm. /&h.
e, 3 ma/l (c) 162.6 fam. /&, (4) 156.3 . /=f.
(¢) 162.6 mg/L  (d) 156.3 M8 :
: L OH" ions in 8 112. U WfFaenet &R H H 34 991 OH 31&H 1
112, The product of H' ions and o A 2
stronger Alkali is Lo () 0 (b) 107
(a) 0 ol (c) 10™ (d) 1
(c) 10” @ . ©.23X ‘@7)” o <
¥ -19- =€ h
D e—fdw’c F) = (2 T be &
Yo lelire gy o r2l
P oC1re af)=zl, )
! =
¢ Lol !
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114.

115.

~A£&) Chlorination

116.

(D,

118.

119.

D

@ A surface of erosion or non-deposition

@ In the South end of the circle

1f " is the focal length of camer, 1 is

the tilt angle, distance of the(photo nadir
from the principal point will be
(a) t sin @ (b) tcot®

{c) t tan 0 Ut cos O

For analysis of direct runoff from a hydrograph,
the relation N = 0.827A°? is used. In this,

the value of area ‘A’ is taken in u@s
{a) Cm? (b) ha? '

(c) Km? (d) m?

Sludge bulking can be controlled by

(b) Denitrification
(c) Aeration
(d) Coagulation

A hyetograph is a graphical representation of
{8 Rainfall intensity and time

(b) Commutative rainfall and time

(c) Discharge and time

(d) Rainfall depth and time

The maximum value of centrifugal ratio on
roads and railways, respectively are taken as

@ }; and & (®F I/ and A
(c) % and }6 (d) Noneof the above

An unconformity is

as detected in a seqd&oetifrgc_l_cs

(b) A type of joints especially associated
with folded and faulted rocks

() Alayerd'clayorshaleinanigwousmass

(d) A layer of boulders and pabbles in a
sequence of rocks

The zero graduation in a prismatic compass
is marked in the,

(a) North end of the circle

(b) In the West end of the circle

(d) In the East end of the circle

B3

1 P
(202

Ao

20

113.

114,

115.

116.

Vil

EEST - 04

Hﬁ‘PMﬁmqﬁﬁm{‘t'ﬂmaﬁma'
a’tgmﬂ'gﬁmmﬁunadir;ﬁqﬁm

(a) t sin 0 (b) tcote
(¢) t tan O (d) tcos®

mzmémmmﬁ?ﬁﬂm?ﬂmu
N = 0.827A" &1 3w Bm smar &) a7t sr
‘A'% foru gard areft B
(a) B2
(c) fap 1y 2

g WA () b Fer 1 e 2 B
i #

() Ferrffram

(b) AEZRRT 7 FHT

(c) &iT

(d) ¥he

BTS2 (hyetograph) U @it sfimf R
(@) YT dfsar aur g9

(b) #%z.2
(d) .2

_(b) FTES Fvr qYT wHg

(c) Pz T g

(@) =T s aen W

1Q%.,

118.

119.

Heh qUT TN T ATHE F9 1 uwam

qM &
®) Y, m kg

@ Y T Jg
© Y w1 (d) IWTa & § # 7

U AGEAAd! (unconformity) &

(a) FEFT & 3T T qIQ U awer @7 - Fam
&I qag

(b) T & I g T sl wieg 71 1
areft wge 8

(c) 3109 ZewE # i a9 Y wa

(d) 9gFT & 9 § GF 3 Fwg 6 v T

& s svm § Y= wew W R

™R

(a) g9 &1 I BR

(b) g9 &1 uftem Bi ‘

(c) T 1 flgw @it

(d) g9 1 g BR
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| L v 2
2 . Th ) - p 5 ’ (;' 3
e loesTnec“::m“l XIra widenin, 9.6§ ' EEST - 04
] € pavem R requy B
: of radius R 1M 0N & hopiga red for
o 2 meter is give,, by rizonta) Curye 120 14 5 ), o w m, w8l v S ws R B,
; R N/ From w1 8, mfvm i hand Froif
F ol N )V £ .‘
] (@ 2V 2R ™ 3R
where, 1 is the length IR | 217
‘ vehicle in meters. of Whee) base of {10 fc) R (d) 3%
(121 The permissible error iy o, TR # 0 & oo ) wend 4
35 asurement with chajy o DR for
B n on | —— 121, ¢ .
@ 1in100 " hilly terrain jq ﬁ?’ma b ol Ahadud BEC
’f{ ®) 1in 1000 (a) 100 & |
aé (c) 1 in 500 (b) 1000 4 |
. @ 1in2s0 fc) 500 & 1
(d) 250 %9

: 132 Hypsometry is a method of
{ (a) surveying of water bodies

122 fesii ) e fifig & Forai

® determining S Jauion based on the _ o B et
bo ng point of Tiquids (b) 53 & FUATH F WUR T S 7 fador
(¢) finding temperature at different height (e) faftr= Jramé w0 g e
(d) measuring distance (d) gl arg=n
123. Which of the following is one of the factor | 123. Fferfiga § @ S-a1 $m F gaws 5 v
influencing the provision of camber ? FATI FRH F IS R 7
(a) Topography (a) ¥y .
(b) Drainage (b) FeAfsE
(c) Sub-grade characterisﬁf:s _ ~ (c) 39 HHf H fadang
& @Amount of rainfall .(d)_ i i A1
124. 100 ®. A s & M9 o wwgm &

Calculate the super elevation to be provided

? on the horizontal curve of radius 100 m. arelt WRIEUM (super elevation) ®1 ToET &
~ Design speed is 50 km/h and the design feomg &t nfa 50 st /wer @ 3l 0,15 % wwd
::C'Vg.llg’p::lt of lateral friction of 0.15 is fully oy & oo Ui G e @ Rt )
(@) 1.0 | e 0.047 (a) 1.0 (b) 0.047
B 0.337 &) 0917 (c) 0.337 (d) 0.917
m\l Rond Congress was formed in the | 125. WRdiy W #BW ) woen B o § @ o @
e fo“di“’“ : g‘;:: - e (a) 1929 (b) 1943 -
. (@)1929 (b) 1943 (c) 1939 (d) 1934 2725
¢ 34
(91939 Aaf19

e “ 2
e | -3 % )%
e«f‘?7)[b¢’l’2 f;gff"f"" Lﬂj o 1 :
5= %wﬁ)% .

g ) S

\ ' -0 Wb ~
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